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Question 1.Select the related word/letters/numbers from the given alternatives:

A awet Aaw e/ nry/d <@ g
College: Student: : Hospital: __?__

Fiol O 11 AT : ?
Options:

1) Doctor

S

2) Treatment

39AR

3) Nurse

|

4) Patient

E

Correct Answer: Patient

!

Candidate Answer: Patient

E

Question 2.Select the related word/letters/numbers from the given alternatives:

R 7 et A H v/ wRYE T g

DHL: PTX :: BFJ: ?

Options:
1) NRV

2) RVZ
3) CGK

4) KOS
Correct Answer: NRV
Candidate Answer: RVZ

Question 3.Select the related word/letters/numbers from the given alternatives:

AR Rt A4 aleerree/3nwl/d = g&w)
5:124::7:7

Options:

1) 125

2) 248

3) 342

4) 343
Correct Answer: 342
Candidate Answer: 342

Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives

39 9 # QU a0 faehout 7 & fawe eee/ e/ & THIA giv|
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Options:

1) Hard:Soft

FOR : AT

2) Hot:Cold

AH:S 3T

3) Right:Wrong

T : ITed

4) Come:Arrive

3ATAT : QE?JHT

Correct Answer: Come:Arrive
HATAT : QE'ﬂHT

Candidate Answer: Hot:Cold
IH:S T

Question 5.

For the following questions

Find the odd word/letter/number from the given alternatives

39 e # U 10 fashed & & fawa erec/ 36N/ € TIFA AT |

Options:
1) AG

2) WA
3)ET

4)1Q
Correct Answer: ET
Candidate Answer: ET

Question 6.

For the following questions
Find the odd word/letter/number pair from the given alternatives

38 e # U 1T fashed & & f4wa orec/ 36N/ € TIFA giAv|

Options:
1) 14, 12

2) 24,7
3) 42, 4

4) 37, 4
Correct Answer: 37, 4
Candidate Answer: [ NOT ANSWERED ]

Question 7.Arrange the following words as per the order in the dictionary

TATEATATET erecl T Areemhier & 3TER o & fod|

1. RESIGN 2. REPAIR 3. RESIDUE 4. RESEARCH 5. RESCUE
Options:

1)45312

2)25431
3)25413

4)54312
Correct Answer: 25431
Candidate Answer: 25431

Question 8.A series is given with one term missing, Choose the correct alternative from the given ones that will complete the series.

SAMAATEH S Tl 8 §, 0 0% I8 vt & RT 710 Rehedl! 37 7 95 6T o RTS8 @ Q@ |
JAZ, LEX, NIV, PMT, ?



Options:
1) QUR

2) RQR
3) SUR

4) RUS
Correct Answer: RQR
Candidate Answer: RQR

Question 9.A series is given with one term missing, Choose the correct alternative from the given ones that will complete the series.

U HTH S Tl 1S §, @ U g oot & AT 10 Taehed] & @ g T faheq G0 S 51 Tl @A |
19, 28, 39, 52, ?, 84

Options:
1) 39

2) 52
3) 67

4) 84
Correct Answer: 67
Candidate Answer: 67

Question 10.X and Y are brothers. R is the father of Y. T is the sister of S who is maternal uncle of X. How is T related to R?

XIARYISEIR, YRR, T,SHTgAE S, XFAAE NHRAFITH sg ¥
Options:

1) Mother

AT

2) Wife

Eroil

3) Sister

Erol

4) Brother

a

Correct Answer: Wife

1

Candidate Answer: Wife

1

Question 11.A is taller than B. C is taller than A. D is taller than E but shorter than B. Who is the tallest?

A, BATHETE ICARTTE DEAHIIEN THEA OIS cIeeTar , 398 Fardl ofell hieT § ?

Options:
1)C

2)A
3)D

4)B
Correct Answer: C
Candidate Answer: C

Question 12.From the given alternative words, select the word which can be formed using the letters of the given word.
AFAff@re fashedt 7 & ag eee giav it fqw arw QIec F &R T AT Flh ST ST TehaT g |

SOMNAMBULISM

Options:

1) NAMES

2) BASALT

3) SOUL

4) BIOME
Correct Answer: SOUL
Candidate Answer: SOUL

Question 13.If D = 4, DOG = 26, then find the value of ANIMAL= ?

Ifg D =4, DOG = 26 dr ANIMAL &T Al 310 HifoT|



Options:
1) 47

2) 49
3)48

4) 50
Correct Answer: 50
Candidate Answer: 50

Question 14.If '+' stands for '+', '-' stands for '=', 'x' stands for '+', '+'stands for greater than, '=' stands for less than, '>' stands for multiplication and '<' stands for
subtraction, then which of the following alternatives is correct?

TG +, + & AT AT, -, = & TAC IATE, X, + & AT IACATE, +, T3 & T AT E, = Aol & AT 1A, > IO & AT 37 8, 3R < e & fow ararg, ar few
T Aheat & A i a1 [Aehed TET 87

Options:
1) 5+:2x1=3+4>1

2) 5>2x1-3>4<1
3) 5x2<1-3<4x1

4) 5<2x1+3>4x1
Correct Answer: 5>2x1-3>4<1
Candidate Answer: 5>2x1-3>4<1

Question 15.1In this question, some equations are solved on the basis of a certain system. On the same basis find out the correct answer from amongst the four
alternatives for the unsolved equation.

FS THIROT Teh TATRET Jomely & gef fohT a1v 1 380 3MUR R T 1w fashedt # & WeY 3cck goa faf@e ?

3X4X5 = 435

4X3X2 = 342

2X3X4="7?

Options:
1) 324
2) 342
3) 432

4) 243
Correct Answer: 324
Candidate Answer: 324

Question 16.In the question, selection the missing number from the given alternatives.

9% # T 10 fashedi A A e & T AT |

6 15 20

8 4 5
3 5 20

51 65 °?

Options:
1) 56

2) 120
3) 151

4) 154
Correct Answer: 120
Candidate Answer: 120

Question 17.Ram walks 3 km towards East and takes a left turn and walks for one km before he turns left and walks 2 km to take another left turn to walk for another
one km. How many km is he away from his starting point?

TH g 1 3R 3 o al, Terar & 3R a1 s 1 R werdr € R aTe 3 T ag 2 fohal s gerar @ R U R 3R 910 g 1 R weraT § ae YRES S
forcter fR.AL TR 2



Options:
1) 1km

1 @R
2) 2kms
2[R
3) 3kms
3 R
4) 4kms
4 fr.a.

Correct Answer: 1km
1 .

Candidate Answer: 1km
1 fm.a

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: All fruits are leaves. Some fruits are grapes.

Conclusion I: Some leaves are grapes.

Conclusion II: All grapes are fruits.

TR ueaT & U a7 &) gerdey Y 71 ¥, foas 3 & fased/Aaard, 1 3117 11 ey 313 1 3mae) aR e § 7 asaed Icd € O a8 afead: od aeai §
T I 8T 871 3T AT AT § T G 10 goFdey & O Fia-a1 A Rad & & TET sy /H=adT fHehrel o Ahar & ?
FYA : TN el TieedT &1 F el 3 TE

sy : 1. Fo dfcaa 3 TE

IL. 5o 3F WWheT 8

Options:

1) Only conclusion I follows

F gAYl Tdg

2) Only Conclusion II follows

& gfsay 1T

3) Both conclusion I and II follows

At sy @ §1

4) Neither Conclusion I nor II follows

AT ar forsens 1 3R a7 € foreeans I /T g |

Correct Answer: Only conclusion I follows

F aEHTITEE

Candidate Answer: Neither Conclusion I nor II follows

AN AFT[IRAT AFTIITETE |



Question 19.Find out the number of triangles in the figure given.

o g oy 3 e P €2

Options:
1)6

2)8
3)10

4) 12
Correct Answer: 12
Candidate Answer: 10

Question 20.Which one of the following diagrams represent the correct relationship between DOCTORS, SURGEONS and NURSES

T AT Flad TR ey, Gof AT A0 & ST T H  ToERl qR
Options:

©o
(s

@
aQm

Correct Answer:

Qo

Candidate Answer:

(-



Question 21.Which answer figure will complete the pattern in the question figure?

leT TN SecR il TR JThict & Fiewd H QU A




Correct Answer:

Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded?

& 1 ok 3Tl & § 3 Scak Ml I AT e veat mplal B A @R & |

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:




Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

AT TeaT T 7 feWIT SITAR TSt T AT FIeeT qAT Wiekt  J1G J6 8 3ocd T f WA@EE A

Options:
1)

3)

4

Correct Answer:

O
o Q

e

Candidate Answer:

&)
[=] o

Q

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

G TH Y WMN Y TR QTSR oY & 918 Seo Tepicral 7 & it A ARl FeaT 3Tepicr 1 FgT Ticiaes gre ?

NN N AR




Options:

S

2)

N

3)

Pl

4)

—

Correct Answer:

Candidate Answer:

N

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its tow and next by its column. e.g. 'A' can be represented by 22, 10 etc and 'P' can be
represented by 55, 67, 79 etc. Similarly, you have to identify the set for the word "NEAT".

Tela T AT ART v d weg, swW oo qamr et av g, St 8 o RGu arw o ameggl 74 81 megp I F aaeeT iR G el E wod4aEd
TS §, 3R TR 11 & 5 | 9 A, 57 ISR & T 38N I Tgol SHM T [FAR 96 HA T € THERT R BT TFaT & SEEN0T [T, A &1 22,10 3178 GaRT &= =r
TR § AT P T 55,67,79 311G SaNT &Rl W1 VAT & ST X & e 'NEAT' 265 & foIT el T9fg T Tgaretelr & |

Blw - o
m|O|Z|e|r (e
Blrim|n|[Z |-
V|2 || |m |k
mrimiO|Z (> |w
2| |r|m[0|&
ol |~ [
O|wn|=|= @ |(w
D |V|O|wv|[d|e
wld|=|w |0 |~
(0w (= |w
- |m|o|O|wn|.

Options:
1) 44,14,34,56

2) 20,33,78,75
3) 13,40,67,99

4) 32,21,41,68
Correct Answer: 32,21,41,68
Candidate Answer: 32,21,41,68

Question 26.Which one of the following is not a scheme/project of the present Government?

PfART § @ FA-W AT ad FEER TS & ?



Options:

1) AMRUT

3IHT

2) Swachh Bharat
TS ART

3) AYUSH

A

4) Jan Dhan Yojana
el YT TITaAT

Correct Answer: AYUSH
Y

K}

Candidate Answer: AMRUT
AT

[3

Question 27.Which of the following was India's first interplanetary mission?

frFfaf@d & @ Fla-T1 AR T gl Iea LI JTHITT a7 ?
Options:

1) Chandrayaan Mission

Togaet TRzt

2) Mangalyaan Mission

H IR

3) Aryabhatta Mission

I R

4) Philae Mission

el AR

Correct Answer: Mangalyaan Mission
H ISR

Candidate Answer: Aryabhatta Mission
I AT

Question 28.Why the Earth is having its own atmosphere ?

G2l T ITAT IGH Sl g ?
Options:

1) Winds

g

2) Clouds

Ciccl

3) Gravity

TRy WF

4) Rotation of the Earth

g H T A

Correct Answer: Gravity
Tecarhy Wi

Candidate Answer: Gravity
TR W

Question 29.Motor skills are associated with which part of the brain?

I TR ARTSH & Hled-H ART & T T g ?
Options:

1) Frontal lobe

ofellc 1T

2) Parietal Lobe

IEGIRRIES

3) Temporal lobe

liferen smeT

4) Occipital Lobe

TRIh4Tel ATT

Correct Answer: Frontal lobe
olellc 1T

Candidate Answer: [ NOT ANSWERED ]

Question 30.Which enzyme is present in all members of the animal kingdom except Protozoa?

SIS & 3Tl HieT-AT Teollg TTOTSTaTd o el Herdi & Hiolg, ¢ ?



Options:
1) Insulin
Eo— 9

2) Pepsin
T o
3) Renin

¥ e

4) Amylase
uffer &
Correct Answer: Amylase
tfAer &

Candidate Answer: Insulin

o -]
Question 31.At boiling point of liquids , its

R Ter & FIUAT W

Options:

1) Temperature increases

AIAT TET &

2) Atmospheric pressure increases

g s SgaT §

3) Temperature remains constant

AT v war

4) Vapour pressure decreases

ITSIEIS TedT §

Correct Answer: Temperature remains constant
I Had W|aT g

Candidate Answer: Temperature remains constant
AT forerd T

Question 32.A level of atmosphere which is composed partly of electrons and positive ions is called

TATERT T T R SN 51 FLUHR Uelledeh 3T o o 37 & THH0T § o1 § T Fhgollll 82
Options:

1) Troposphere

NI

2) Ionosphere

HRAATRRHI

3) Stratosphere

® afeemR

4) Mesosphere

A7 afemR

Correct Answer: Ionosphere
ARSI

Candidate Answer: [ NOT ANSWERED ]

Question 33.In India which of the following taxes is levied by the State governments?

AR 7 AT 3 & FleT-A1 X Tod TN SaRT TG Sl § ?
Options:

1) Excise duty on liquor

WS TR ITEHRT Yok

2) Capital gains tax

Goireret 31fdremsT T

3) Customs tax

TAT Lok

4) Corporation tax

A =

Correct Answer: Excise duty on liquor
WIS T JTEHRT Yok

Candidate Answer: Customs tax
TAT Yok

Question 34.After question hour, a motion moved by a Member of Parliament to draw the attention of Executive for discussing a definite matter of public importance is

25T el & TG, AT & [l HEEd SaRT SPeTcll & Fged & [l oI fead [avd ) RFaR-faee § & F@ e ey % v 1@ a1 Sara &1 gelrdm § ?



Options:

1) Privilege motion
[ERERIBED coic

2) Calling attention Motion
T HY YR

3) Adjournment motion
BT TEAT

4) No- confidence motion
Jfaeara g

Correct Answer: Adjournment motion
BT TEITT

Candidate Answer: [ NOT ANSWERED ]

Question 35.The major objective of monetary policy is to

Aifw Ay FAEa 3T FTeaT§?

Options:

1) increase government's tax revenue

T AT

2) revamp the Public Distribution System

SieT fareoT JoTel & FEr

3) Promote economic growth with price stability
AT TR & T A R 1 Acaied aer
4) weed out corruption in the economy

3 TITR HSTAR P gl

Correct Answer: Promote economic growth with price stability

o TR & a0 31 S I diedifed Hr
Candidate Answer: [ NOT ANSWERED ]

Question 36.The only Viceroy to be assassinated in India was

g THA AERT HleT I TSHeTeht 87 # geam g8 A4
Options:

1) Lord Harding

dsEfE o

2) Lord Northbrook

@IS A &

3) Lord Ellenborough

WIS ToAaRT

4) Lord Mayo

A H AT

Correct Answer: Lord Mayo

dqEH Ar

Candidate Answer: [ NOT ANSWERED ]

Question 37.Which one is not the main objective of fiscal policy in India?

HRA A Tacdia A F1yaq@ 38 dlaar A8 g 2
Options:

1) To increase liquidity in the economy

Y SITERH AT TEAT

2) To promote price stability

Ao T & Sieared e

3) To minimize the inequalities of income & wealth
3THEEAT 3R FFATed Hr FTATAT Y FHH HIAT

4) To promote employment opportunity

ASHIR & TR T Weafed FEAT

Correct Answer: To increase liquidity in the economy
Y SITERH AT TEAT

Candidate Answer: [ NOT ANSWERED ]

Question 38.Who was the founder of the Theosophical Society?

'RTa e OORIE & § TR & ?



Options:

1) Justice Ranade

ST =TS

2) Madam Blavatsky

H seEITaEhT

3) Annie Besant

Wiy ¥ =<

4) Bal Gangadhar Tilak

S I IR

Correct Answer: Madam Blavatsky

H seRIaEhT
Candidate Answer: [ NOT ANSWERED ]

Question 39.India recently signed land boundary agreement with which country?

AR A AR o e & A ¥ wHsfial OX g o 82
Options:

1) China

AT

2) Nepal

GRS

3) Bhutan

ST

4) Bangladesh

TG A

Correct Answer: Bangladesh

TG A

Candidate Answer: [ NOT ANSWERED ]

Question 40.Who among the following Indians is one who has been selected on July 27,for the Ramon Magsaysay Award, 2016?

ARl SR 3 & 27 S 2016 F1 T # TR ¥ Fe Ry o T § 2
Options:

1) Bezwada Wilson

CRRCCIE i

2) Kailash Satyarthi

& eracardt

3) Kiran Bedi

Euc

4) Mahasweta Devi

R & dr

Correct Answer: Bezwada Wilson

§ Sasieded
Candidate Answer: [ NOT ANSWERED ]

Question 41.The first Field Marshall of India was

HRT T JUH ez AT BT A?
Options:

1) A. S. Vaidya

TTEd

2) K.M. Cariappa

. TH. HR3TIT

3) Sunderji

W

4) S.H.F.J. Manekshaw

TH. U9, T, o, A Hl
Correct Answer: S.H.F.J. Manekshaw
TE. UF. UF. o, AT HAT

Candidate Answer: [ NOT ANSWERED ]

Question 42."Earth provides enough to satisfy everyman's need but not everyman's greed". Who said this?

"R T & Flrerd & fow 6T afee e AT ITaRIEAnT i i & o W7 AT 3Teet I &' 9§ HUT e dheT AT ?



Options:

1) Guru Nanak Dev

TEAARS T

2) Mahatma Gandhi

FETeAT ey

3) Pope Paul VI

91T gYer VI

4) Smt. Indira Gandhi

Al sfeexr aifely

Correct Answer: Mahatma Gandhi
FETCAT e

Candidate Answer: [ NOT ANSWERED ]

Question 43.Who won the first medal for India at the Rio Olympics?

R ANafPaerd & HRA & T 9gaT e fhaa) Siiar?
Options:

1) Babita Kumari

Sfgar ey

2) Narsingh Yadav

RE Fea

3) P. V. Sindhu

oL g

4) Sakshi Malik

anf Afow

Correct Answer: Sakshi Malik

anft #fers
Candidate Answer: [ NOT ANSWERED ]

Question 44.The most serious air pollutant causing health hazard is

TG A H TR STl dalell §a8 77 3T Yeeh HleT-ar g ?
Options:

1) Sulphur dioxide

HeUR 315 3iFass

2) Carbon monoxide

FE AT AHTFAES

3) Ozone

Eicic

4) Nitrogen oxide

A dtaEs

Correct Answer: Sulphur dioxide
TR 31 IFASS

Candidate Answer: Carbon monoxide

FT AT AFASS

Question 45.Helium is added to the oxygen supply of deep sea divers because it is

B WHG & ANATERT &1 3ot 3mqfet # Siforrs e s § a=ifs

Options:
1) less poisonous than nitrogen

g ATSeIoT A i STgdel &
2) Lighter than nitrogen

T AT W o gl &
3) Readily miscible with oxygen

T IS & T ey FRAT &Y ey &

4) less soluble in blood than nitrogen at high pressure

I 3T & W ARG HT 3 G H e Golehe gl §

Correct Answer: less soluble in blood than nitrogen at high pressure
g 3o e I TSIl 1 3T T H hHl GoleTieT gl &
Candidate Answer: Readily miscible with oxygen

Tg 3Rt & A STodr FRfAT g s &

Question 46.Terylene is a condensation polymer of ethylene glycol and which acid?

T Rl sof PR fFg s v g a?ﬁlw%?



Options:

1) Benzoic Acid
Sl 3l

2) Salicylic acid
arferarsiers 3

3) Phthalic acid
onforR 3T

4) Terephthalic acid
T Y guiEEeT
Correct Answer: Terephthalic acid
T ¥ g

Candidate Answer: [ NOT ANSWERED ]

Question 47.1n IT, means that the data available in the database is both accurate and consistent.

e, FIHSE Froed Fsuoeusa e IR T |
Options:

1) Data Security

31eT faTrier

2) Data Availability

srer g fafsfedr

3) Data Binding

SETaEE T

4) Data Integrity

3Ersec AT

Correct Answer: Data Integrity
SETSee A

Candidate Answer: Data Availability
srer g fafefodr

Question 48.0n a clean glass plate a drop of water spreads to form a thin layer whereas a drop of mercury remains almost spherical because

FAPTH o WAL H Jg & @ TF Tael IRl 37 STell § STafh IR T §& MR 17 el & FifH
Options:

1) Mercury is a metal

GRT T e &

2) Density of mercury is greater than that of water

IR T Gecd, Tl & Heed F ST 21T &

3) Cohesion of mercury is greater than its adhesion with glass

FT & | IR B TG, SHRT T F A @l &

4) Cohesion of water is greater than its adhesion with glass

T & T T T TG, ST ARl & it e
Correct Answer: Cohesion of mercury is greater than its adhesion with glass

e & A IR A GG, $HT IARFT F e gl &

Candidate Answer: Mercury is a metal
IRT T €] &

Question 49.The smallest island country in the Indian Ocean is

HRAT FETARR 7§98 BT gdia-¢ @leT-ar g ?
Options:

1) Maldives

AT

2) Sri Lanka

e Fr

3) Mauritius

HIrr

4) Madagascar

A IEMTER

Correct Answer: Maldives

AT
Candidate Answer: [ NOT ANSWERED ]

Question 50.The Chairman of the Public Accounts Committee of the Parliament is appointed by the

T WA T WA & sreget i fAgfed wid warg ?



Options:

1) President of India

R T Tsgafa

2) Prime Minister of India
R & TTAHAT

3) Speaker of Lok Sabha
Sl THT ST 3eT6T

4) Chairman of Rajya Sabha
ST GHT 1 IETET

Correct Answer: Speaker of Lok Sabha
ek THT ST 3TET 8T

Candidate Answer: [ NOT ANSWERED ]

Question 51.A and B can together do a piece of work in 6 days and A alone can do it in 9 days. The number of days B will take to do it alone is

A 3R B AR U FHA &1 6 o A QU A ot & AR A 3 SWIRA AR THFATE B AHF 3 o1l &l foheiol ot A &6
Options:

1) 18 days

18 feat

2) 24 days

24 et

3) 9 days

9 feat

4) 12 days

12 a1

Correct Answer: 18 days

18 &t

Candidate Answer: 18 days
18 feet

Question 52.The length of the two parallel sides of a trapezium are 16 m and 20 m respectively. If its height is 10 m, its area in square metres is

Toh GHOIES hT o T BIST3M T of  SEbHRr: 16 Y 3R 20 AT A SEAT @ gD AreT g1 ot et e A IHH &7 TheAlT ToIT ?

Options:
1) 360

2) 260
3) 240

4) 180
Correct Answer: 180
Candidate Answer: [ NOT ANSWERED ]

Question 53. A discount series of 15%, 20% and 25% is equal to the single discount of?

15%, 20% 3R 25% FI g 4 TdhcTal % T Tehel BT & T § ?

Options:
1) 48%

2) 49%
3) 50%

4) 51%
Correct Answer: 49%
Candidate Answer: [ NOT ANSWERED ]

Question 54.Rs. 490 is divided among A, B and C such that A's share is half that of B's and thrice that of C's. What is C's share?

Rs.490 #T A, B 3R C A 5@ yahR AT T ST e ATl BBH Y W IMe INCHF Y WAT TN QF Y W g ?

Options:
1) Rs.49

2) Rs.147
3) Rs.294

4) Rs.245
Correct Answer: Rs.49
Candidate Answer: [ NOT ANSWERED ]



Question 55.A dealer sold an article at 6% loss. Had he sold it for Rs. 64 more, he would have made a profit of 10%. Then the cost of the article is

T sk @ ToRe e T 6% Tl o AT SHA 3 %] T Rs. 64 ARFH F S T Al I 10% T S GIT | T T ST fovetatl § 2
Options:
1) Rs.400
2) Rs.200
3) Rs.164

4) Rs.464
Correct Answer: Rs.400
Candidate Answer: [ NOT ANSWERED ]

Question 56.There are 1400 students in a school, 25% of those wear spectacles and 2/7 of those wearing spectacles are boys. How many girls in the school wear
spectacles?

T el 7 1400 BT §, 377 25% TRAT TN § 3T AT e aredt 31 2/7 @5 1 Fohel & ForeisiT orsferat e emel § ?

Options:
1) 250

2) 100
3) 200

4) 300
Correct Answer: 250
Candidate Answer: [ NOT ANSWERED ]

Question 57.A man can row upstream at 12 km/hr and downstream at 18 km/hr. The man's rowing speed in stillwater is

T AT Rt T wfger fewm 7 12 . /8 SR 3wy feen # 18 fRat/a & a1fer & Al wron T & TR ST 3 3w sfte =it 7 a1ty fectetr gie 2
Options:

1) 15 km/hr

15 fo.20. /qver

2) 5 km/hr

5 5.3, /aver

3) 3 km/hr

3 .30 /aver

4) 10 km/hr

10 f&.5. /gver

Correct Answer: 15 km/hr
15 f&.#./gver

Candidate Answer: [ NOT ANSWERED ]

Question 58.
If ab = 21 and

(a+b)* _
(a b7

25 ;
Ithen the value of a2 +b? + 3ab is

2
IR ab = 21 m{(:ﬁ: ZRrefra? + b2 + 3ab T AT FAT G ?

Options:
1) 115

2) 121
3) 125

4) 127

Correct Answer: 121

Candidate Answer: [ NOT ANSWERED ]
Question 59.The value of (dS*t+ d) + d would be
(dS*+t+ d%)+ dt T AT FT EYeT ?

Options:

1) dZ(S+t)

2)1

3)0

4) dst



Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 60.Possible measures of three angles of a triangle are

T gt & A SIOT FTH  HATIAT 7 gha ?

Options:
1) 33°, 42°, 115°

2) 40°, 70°, 80°
3) 30°, 60°, 100°

4) 50°, 60°, 70°
Correct Answer: 50°, 60°, 70°
Candidate Answer: [ NOT ANSWERED ]

Question 61.BD and CE are two medians of the triangle ABC. If EO = 7 cm, then the length of CE is

BD 3k CE fefst ABC & \regsh ¢ S EO = 7 A.#f. g1 a CE o1 oioat$ fohetelt & 2
B

A D C

Options:
1) 28 cm
28 T
2) 14 cm
14 7.7
3)21cm
21 8.4
4) 35cm
35 3.

Correct Answer: 21 cm

21 7.
Candidate Answer: [ NOT ANSWERED ]

Question 62.
If sec?0 + tan?8 = V3, then the value of sec*t — tan®0 is

IRE sec? + tan?d = /3,8 dlsectd — tan*® HT AT hdelTh ?

Options:
1) Y3

2)1
3)V3

4)0
Correct Answer: V3
Candidate Answer: [ NOT ANSWERED ]

Question 63.The greatest perfect square number of 6 digits is

63 T I qOIINE AT ?

Options:
1) 999001

2) 998001
3) 998009

4) 998101
Correct Answer: 998001
Candidate Answer: [ NOT ANSWERED ]



Question 64.The average height of 30 boys out of a class of 50 is 160 cm. If the average height of the remaining boys is 165 cm, the average height of the whole
class (in cm) is:

50 TSI T T FHaTT H 30 5! T HTHd oaTs 160 T.77. § ARG & #swhi dr 3aa e 165 A7 §, A It Tt dr 3iea ears (F.77. #) et gefr ?
Options:

1) 161

2) 162

3) 163

4) 164
Correct Answer: 162
Candidate Answer: [ NOT ANSWERED ]

Question 65.Given a - b = 2, a3- b3=26 then (a + b)? is

Ffida-b=2,a-b3=268ar(a + b)? & AR FAT T ?
Options:

1)9

2)4

3) 16

4) 12
Correct Answer: 16
Candidate Answer: [ NOT ANSWERED ]

Question 66.If X + Y + Z = 9 then the value of (X - 4)3 + (Y-2)3 + (Z-3)3-3(X-4) (Y-2) (Z-3)is

FREX+Y+Z=98ar(X-43+(Y-23+(@Z-33-3(X-4)(Y-2)(Z-3)F A e & ?
Options:

1)6

2)9

3)0

4)1
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 67.Three medians AD, BE and CF of AABC intersect at G; Area of AABC is 36 sq cm. Then the area of ACGE is

AABC & st #1eareh AD, BE 31X CF U g@ &1 G R &ied §, If& AABC 787 9%36 A.AL2 g al ACGE 1 87 Thihelel & ?
Options:

1) 12sqcm

1232

2) 6sqcm

6 A2

3)9sqcm

9 Q.2

4) 18 sq cm

18 4.2

Correct Answer: 6 sq cm

6 ¥.7.2
Candidate Answer: [ NOT ANSWERED ]

Question 68.A chord of a circle is equal to its radius. A tangent is drawn to the circle at an extremity of the chord. The angle between the tangent and the chord is

T Fedd T ST 38! FHeaT & e § M1 & O W Jed A TH AT @l AT g aoeiy BN Siar & o o7 fnefor 37 &7 g1am 2

Options:
1) 30°

2) 45°
3) 60°

4) 75°
Correct Answer: 30°
Candidate Answer: [ NOT ANSWERED ]



Question 69.
2
Ifmsinf = 1,mwcos@ = 1, then the value .gf{@tan (58) +1}is

.
AT wsinf = 1,mcosd = 1,a‘ra‘r{~f§tan(§e) +1) FIAAFATFIEAN?

Options:
1)1

2)V3

3)2

4) Yys
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

Question 70.The difference between simple and compound interest (compounded annually) on a sum of money for 3 years at 10% per annum is Rs. 93. The sum (in
Rs.) is:

10% 9fd @ 93 3 ¥ & fav el afr ox aemoer 3R whafe saret (PR afaad & fSRar Siar ) & dra 3t oRs. 93 &g I fanctelr (Rs. #) & 2

Options:
1) 30000

2) 30300
3) 3000

4) 3030
Correct Answer: 3000
Candidate Answer: [ NOT ANSWERED ]

Question 71.The angles of elevation of top and bottom of a flag kept on a flagpost from 30 metres distance, are 45° and 30° respectively. Height of the flag is [taking
V3 =1.732]

TF eao T ORI et & A 3R 30 3R gl § 3t wiorwown: 450 3300 | caar fr 5 Apeet § 2 (AT V3 = 1.732)
Options:

1)12vV3m

12 V3 A

2)15m

15 #Aiex

3)14.32m

14.32 #Arex

4)12.68 m

12.68 #ex

Correct Answer: 12.68 m
12.68 #reX

Candidate Answer: [ NOT ANSWERED ]



Question 72.Study the following bar-diagram carefully and answer the questions. The bar graph given below shows the foreign exchange reserves of a country (in
million US $) from 1991 - 1992 to 1998 - 1999.

IR ITH I LA ¥ Ifed 3T 7ot & Sea? AfSw| T BU AT IR MG A UH & &1 1991 - 1992 F 1998 - 1999 TF I BN @eFerwiol Nord (Aforaet g.vw. §) Afeard |

6000
5000 04D
4320
4000 i
3360
a0 3120

3000

2640 —
2000
1000

LERTTY 1892 1983 1994 1355 1996 1987 1998
52 83 34 45 -5 &7 -98 -09

The ratio of the number of years, in which the foreign exchange reserves are above the average reserves, to those in which the reserves are below the average
reserves is

TN R E CHR R @S Retd i Rt @ S @ @ AR A At A1 E SHraesiad, Rerd & A @1 8, 7 3eare 4 g ?
Options:

1) 2:6

2)3:4

3)3:5

4) 4:4
Correct Answer: 3:5
Candidate Answer: [ NOT ANSWERED ]

Question 73.Study the following bar-diagram carefully and answer the questions. The bar graph given below shows the foreign exchange reserves of a country (in
million US $) from 1991 - 1992 to 1998 - 1999.

IR T &l &1 A Ifed 31X oot & seak Qv ST Ru v aR e A v & &1 1991 - 1992 § 1998 - 1999 A& H BR Wl Rotd (Aforrer g.vw. §) Afarg |

6000
5040
5000
4320
4000 a720
3360
120 3120
3000
2640 2520
00
1000
LYY 1092 1983 1594 1995 1986 1997 1998
-92 -93 94 .95 -5 a7 08 -89

The foreign exchange reserves in 1996-97 were approximately what percent of the average foreign exchange reserves over the period under review?

¥ 1996 - 1997 HF R WAl RoTd, 3AT PR FFEIST RoTd T TeHT fohcl=T Yfarerd 8T ?

Options:
1) 95%

2) 110%
3) 115%

4) 124%
Correct Answer: 124%
Candidate Answer: [ NOT ANSWERED ]



Question 74.Study the following bar-diagram carefully and answer the questions. The bar graph given below shows the foreign exchange reserves of a country (in
million US $) from 1991 - 1992 to 1998 - 1999.

IR ITH I LA ¥ Ifed 3T 7ot & Sea? AfSw| T BU AT IR MG A UH & &1 1991 - 1992 F 1998 - 1999 TF I BN @eFerwiol Nord (Aforaet g.vw. §) Afeard |

6000
i 5040
4320
4000 g
3120 aiiu

3000

2000

1000

g 1201 w8 1983 1994 L 1996 1967 1998

a9

The percentage increase in the foreign exchange reserves in 1997-98 over 1993-94 is

a§ 1997-98 # a¥ 1993-94 A 30 R Werwreor ot A et wfcreret 3ifee aQiadigs ?

Options:
1) 100

2) 150
3) 200

4) 120
Correct Answer: 100
Candidate Answer: [ NOT ANSWERED ]

Question 75.Study the following bar-diagram carefully and answer the questions. The bar graph given below shows the foreign exchange reserves of a country (in
million US $) from 1991 - 1992 to 1998 - 1999.

IR T T AT § T 3R 7eaT & e Afw | A U aw sR s HuH & &7 1991 - 1992 F 1998 - 1999 e T BR "ereraiol Rora (fAforst guw. ) A g |

6000
5040
5000
4320
4000 1730
3360
3120 3120
3000
2000
1000
g 1991 199: 1993 1598 199\3 199e 199? 1998
09

Ratio of the sum of foreign exchange during the years 1991-92, 1992-93, 1993-94 to that during the years 1995-96, 1996-97, 1997-98 is

a¥ 1991-92, 1992-93, 1993-94 & R Wereiol ReTd & IWT 3T a¥ 1995-96, 1996-97, 1997-98% R WeFereisl et o AT T eIl A1t ST ?
Options:
1)31: 35

2) 35:31
3) 37:52

4) 52:37
Correct Answer: 37:52
Candidate Answer: [ NOT ANSWERED ]

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

PANACEA



Options:

1) PRAISE

2) CURE-ALL

3) POISON

4) AMBROSIA

Correct Answer: CURE-ALL

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

DETEST

Options:

1) DENOUNCE

2) IGNORE

3) ADORE

4) CASTIGATE

Correct Answer: ADORE

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Debilitate

2) Impecable

3) Inkulcate

4) Harrass

Correct Answer: Debilitate

Candidate Answer: Debilitate

Question 79.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

What a holiday!
Options:

1) momentous

2) memorable

3) momentary

4) immortal

Correct Answer: memorable

Candidate Answer: memorable

Question 80.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Many important projects have reached the final stage of .
Options:

1) accomplishment

2) initiation

3) resolution

4) implementation

Correct Answer: implementation

Candidate Answer: implementation

Question 81.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

you live long!

Options:

1) Might

2) May

3) Shall

4) Should

Correct Answer: May

Candidate Answer: May

Question 82.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Each of the girls (A) / have come (B) / with her books. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B



Question 83.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Me and my wife (A) / were at home (B) / last night. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: D

Question 84.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Essay writing is an art (A) / that requires many planning (B) / on the part of the writer. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Caught red-handed

Options:

1) Caught by mistake

2) Caught with a red-handkerchief

3) Found wounded

4) Discovered in the act of doing

Correct Answer: Discovered in the act of doing
Candidate Answer: Caught with a red-handkerchief

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Gate crasher

Options:

1) Invader

2) Thief

3) Uninvited guest

4) Children

Correct Answer: Uninvited guest
Candidate Answer: Children

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To angle

Options:

1) To measure the river breadth
2) To fish with a net

3) To fish

4) To sit and watch the river
Correct Answer: To fish

Candidate Answer: [ NOT ANSWERED ]

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Favouritism shown by a person in power to his relatives
Options:

1) Formalism

2) Red-tapism

3) Nepotism

4) Bureaucracy

Correct Answer: Nepotism

Candidate Answer: [ NOT ANSWERED ]

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A round-about way of expression
Options:

1) Verbosity

2) Talkativeness

3) Circumlocution

4) Locquacious



Correct Answer: Circumlocution
Candidate Answer: [ NOT ANSWERED ]

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Suitable or intended for only young persons
Options:

1) Youthful

2) Puerile

3) Adolescent

4) Juvenile

Correct Answer: Juvenile

Candidate Answer: Youthful

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Each self is unique, and therefore cannot be compared.
Options:

1) incomparable

2) Non comparable

3) Incomparably

4) No improvement

Correct Answer: incomparable

Candidate Answer: Non comparable

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Shall I sit between you at the concert?
Options:

1) beside

2) besides

3) next

4) No Improvement

Correct Answer: beside

Candidate Answer: beside

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

No one other reason than poverty is hampering India's progress.
Options:

1) No other

2) None other

3) No another

4) No improvement

Correct Answer: No other

Candidate Answer: No improvement

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

The custom has took root in the society.
Options:

1) taken root

2) take root

3) takes root

4) No improvement

Correct Answer: taken root
Candidate Answer: taken root

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

We will take care of your children when you are away at Mumbai.
Options:

1) be looking for

2) look after

3) take care after

4) No improvement

Correct Answer: look after

Candidate Answer: look after



Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My brother, David, was always close to our grandmother. Both of them shared a love of Mother Nature and of food that they had grown themselves. Whenever his
schedule permitted, he would drop in for a short visit and a cup of coffee. One day, when he found no one home, he left a chunk of dirt on her porch. This started
what was later to be known as his "calling card". Grandmother would come home occasionally and instantly know that Dave had been by when she spotted the chunk
of dirt on her porch.

Although Grandmother had a poor upbringing in Italy, she managed to do well in the United States. She was always healthy and independent and enjoyed a fulfilling
life. Recently she had a stroke and died. Everyone was saddened by her death. David was disconsolate. His life-long friend was now gone.

What is the opposite of the word 'disconsolate'
Options:

1) Devastated

2) Hilarious

3) Exuberant

4) Sombre

Correct Answer: Exuberant

Candidate Answer: [ NOT ANSWERED ]

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My brother, David, was always close to our grandmother. Both of them shared a love of Mother Nature and of food that they had grown themselves. Whenever his
schedule permitted, he would drop in for a short visit and a cup of coffee. One day, when he found no one home, he left a chunk of dirt on her porch. This started
what was later to be known as his "calling card". Grandmother would come home occasionally and instantly know that Dave had been by when she spotted the chunk
of dirt on her porch.

Although Grandmother had a poor upbringing in Italy, she managed to do well in the United States. She was always healthy and independent and enjoyed a fulfilling
life. Recently she had a stroke and died. Everyone was saddened by her death. David was disconsolate. His life-long friend was now gone.

David would drop in for a short visit and leave a as a sign on grandma's porch if she was not at home.
Options:

1) schedule

2) chunk of dirt

3) calling card

4) cup of coffee

Correct Answer: chunk of dirt

Candidate Answer: chunk of dirt

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My brother, David, was always close to our grandmother. Both of them shared a love of Mother Nature and of food that they had grown themselves. Whenever his
schedule permitted, he would drop in for a short visit and a cup of coffee. One day, when he found no one home, he left a chunk of dirt on her porch. This started
what was later to be known as his "calling card". Grandmother would come home occasionally and instantly know that Dave had been by when she spotted the chunk
of dirt on her porch.

Although Grandmother had a poor upbringing in Italy, she managed to do well in the United States. She was always healthy and independent and enjoyed a fulfilling
life. Recently she had a stroke and died. Everyone was saddened by her death. David was disconsolate. His life-long friend was now gone.

Grandmother used to be

Options:

1) rich in Italy but poor in the United States

2) in the United States but is now in Italy

3) poor earlier but became rich later on

4) rich earlier but now poor

Correct Answer: poor earlier but became rich later on

Candidate Answer: poor earlier but became rich later on

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My brother, David, was always close to our grandmother. Both of them shared a love of Mother Nature and of food that they had grown themselves. Whenever his
schedule permitted, he would drop in for a short visit and a cup of coffee. One day, when he found no one home, he left a chunk of dirt on her porch. This started
what was later to be known as his "calling card". Grandmother would come home occasionally and instantly know that Dave had been by when she spotted the chunk
of dirt on her porch.

Although Grandmother had a poor upbringing in Italy, she managed to do well in the United States. She was always healthy and independent and enjoyed a fulfilling
life. Recently she had a stroke and died. Everyone was saddened by her death. David was disconsolate. His life-long friend was now gone.

Grandmother enjoyed a life.



Options:

1) healthy but sickly

2) good and healthy

3) rich but sickly

4) poor and healthy

Correct Answer: good and healthy

Candidate Answer: good and healthy

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

My brother, David, was always close to our grandmother. Both of them shared a love of Mother Nature and of food that they had grown themselves. Whenever his
schedule permitted, he would drop in for a short visit and a cup of coffee. One day, when he found no one home, he left a chunk of dirt on her porch. This started
what was later to be known as his "calling card". Grandmother would come home occasionally and instantly know that Dave had been by when she spotted the chunk
of dirt on her porch.

Although Grandmother had a poor upbringing in Italy, she managed to do well in the United States. She was always healthy and independent and enjoyed a fulfilling
life. Recently she had a stroke and died. Everyone was saddened by her death. David was disconsolate. His life-long friend was now gone.

Grandmother's death made everyone
Options:

1) sad including David

2) disconsolate excluding David

3) happy and disconsolate

4) sad excluding David

Correct Answer: sad including David

Candidate Answer: sad including David



